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39812410| “4whnyph thuy kguwi Uhgng PCUZ huwn 650 6.5 10
39831280/ wwywlh Ywppny hknniy PCUZ hurn 450 45 10
39812400 [dwppnn byniphp /nwjupw/ PCUZ hwwn 300 3.0 10
39831242 |Jwgph thnph dnpny wiwynt hunlwp PCUZ wnnuh 400 20 5
39522330/ uknuih dwippnn ljunnp FCUZ hunn 100 3.0 30
39831281 muywlh (Jwhwnt jup PLULZ hunn 700 1.4 2
39831283 | hwuinwly Juibiwyn jup PCU2 hun 600 12.0 20
39831283 |htinmily odwn PCULZ huwn 400 4.0 10
39836000 [un]ky PCUZ huin 1000 20.0 20
39839200{gnquphwy wnpp hunfupkjnt hudwp FCU.Z huwn 250 1.5 6
39224341 [wnpwdwl PCUZ hunn 1000 4.0 4
39831100 | wjuwniwhwng Uheng/dunky/ PCULZ 1hwip 200 6.0 30
31685000 kpwpwigdwh juip /507 FOUZ huin 2500 5.0 2
33761000{qmqupuith pninpe PLULZ hun 100 5.0 S0
33761400 |wbalinnghly puonih PCUZ huin 150 3.0 20
35832100(wiiwb jJwhuyne hknnil PCUZ huin 350 4.2 12
31531210| b kjuipuuit judyy 100W PLUZ hunn 120 24 20
19641000 | wn)htkphjwiht inwpwl wnph hunhup PCUZ wnnih 500 10.0 20
18421160 |nkinhluk Aknlinglibip PCUZ hunn 250 2.5 10
44211610/ bunyuhw PCUZ g 1000 2.0 2
44111200 |gkutiinn : PCUZ uuny 3500 21.0 6
14211000 unjug PCUZ wwuny 250 3:3 13
44511240 hwippwonipp PCUZ hunn 2000 2.0 1
44511220 |dum PCUZ hunn 1600 1.6 1
44921110|ghujuntihwin RCULZ wuply 2350 4.7 2
44910000|gpniinn PCU2 wuply 3000 3.0 1
44921500 qhujuuyht dkthunfwshy FOUZ wupy 4200 4.2 1
44921600 [shthwlwbdhly Alkjun]ny/ PCUZ uuipl 5600 5.6 1
44930000 phippuipwp PCULZ Ubwnp 1000 1.0 i
44311180/ tnwlguwl Wynipkp b klunpng 3-ng PCUZ unith 3500 3.5 1
31224500(wwnnunuljukp PCUZ huin 20 2.0 100
44531180{Uwtkl, hknniu RCUZ lig 2000 2.0 1




31684400 [Jupnuily Bz, hun 500 5.0 10
31211200 |wbpuinhy PCUZ huin 500 5.0 10
41810000 ukply FOUL {hwp 1000 10.0 10
44192610|Ukhu Annwpphip sunhubipy PCUZ lig 850 0.9 1
39330000{9nh quahs /Shpunph dhenily/ PCUZ huwwn 700 10.5 15
44411110{9nh dnpul PLUZ huin 3400 6.8 2
30197631 |pninp A4 PLULZ wnnh 1700 17.0 10
44521600 yuiJh& FCUZ g 900 27.0 30
24911200| bunyuhw/unuhtid/ PCUZ huin 200 0.6 3
30192160 oiphiu FCUZ hun 250 0.5 2
30192137 |Jwwnhw hwuwpuly RCUZ hunn 150 0.6 4
30197112|juphsh Uk juwbp PLULZ unnith 200 1.6 8
30192740{gqnibwnnp poune A4 PLULZ hwwn 12 1.2 100
30199420 |uomduliph hunfwp prnp PLUZ wnnuj 350 0.7 2
30197232 | wpuquiljup PCUZ huwn 100 1.3 13
2851200|prjpuywibwl PCULZ hun 700 0.7 1
30197234|pnpuywbly, hnpin Juqunm] PCUZ huwn 1200 3.6 3
22851500 nuinunfunjwith juqu PCUZ hwwn 1500 18.0 12
30197231 |bwy ip PCULZ hunn 12 1.2 100
22811150|inpunntinp PCUZ huwn 1700 3.4 2
39263200|Gpwukiywljuhh ghpp tuinui, 70-200 . ACUZ hunn 1000 5.0 5
22458000| muphdhjughw PCUZ hun 800 9.6 12
22458002 | wwwinughp stngubph htwn PCUL hun 150 75 50
22458003 |jpwgnighs Yppnipiul dwnjwi PCUZ huin 1200 3.6 3
22458004 | wowlkpinh whdtulwb gnpd PCUZ hun 300 9.0 30
22458006 [uinbununkph pugjuiwb pugduy PCUZ hunn 150 1.2 8
22458010 |nuuntlh wonuunwmbipuiht opwghp RCUZ hunn 600 7:2 12
22458012 | npuuwjunulukph dwujui PLUZ hunn 2500 1.5 3
22451220|4-py nquuwpuith hujwunwghnp PCUZ huun 200 5.2 26
22800000 |Ukpny dhwynpuwb dwnjub PCUZ huwwn 1200 4.8 4
22800000 |Ukpny dhwynpuwb dpughp PCUZ huwn 1000 4.0 4
22800000 |hpulwwughpp PCUZ huin 2500 25 1
22800000 [wslununnnnh widtwlwh gnpd PCUZ hwwn 500 6.0 12
22800000 | wyhuninnnh wywjlwiughp PCUZ huwn 250 2.5 10
22811110 :‘[‘T’m‘““‘“umpwu‘“]{mu huiimmivh POUZ | humn 1000 1.0 1
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37451290 [$nunpnih quuly PLUZ huiin 10000 10.0 1
37451580 |qunul Unjtypngh PCULZ hunn 6000 30.0 5
37451410 |qunuil puulknpnih PCUZ huin 6000 18.0 3
37451411 | puuljtinpnjh guitig POUZ hun 1000 2.0 2
30211220|utquith hunfwljwpghy PLUZ huwn 220000 220.0 1
15890000 [uliiph gnudwip POUZ npunl 2200000 2200.0 1
2211111 [puwuwgppkph gnulwp PCUZ npud 105900 105.9 1
wy) dutpuukp PCULZ npud 400000 400.0 1
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65300000 :lhq“p“thhqu‘”lb P ecuz | ppud 800000 800.0 1
wnwnipnil ‘
£5200000|quigh dwnuynipnil PCUZ npud 2100000 2100.0 1
65200000 qugh unjwuwpldwl dwnwjnipyntl PCULZ npud 120600 120.6 i
64210000| Zknwunup junubjuyjwpd b Jéup PCUZ npul 60000 60.0 1
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50720000 qtpml?npnql?ulg amnuﬂgwmnhhp ecuz | ppud 150000 150.0 1
90511150|Unph thnjawngpuwi swmuynipyniiibp PCULZ npund 40000 40.0 1
90221100|Hhnuinhquighw PCUZ npud 60000 60.0 1
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79131300 g}ugmfh mdbmﬂmlgm?fm P) pouz | gpud 6000 6.0 1
65100000 2ptph puojuiwi Swnwympnth POULZ npud 100000 100.0 1




64111100] Ptpphph pudwinprugpnipjnit PCUZ npud 30000 30.0
66510000 |wujuhnywgpuijui swnuynipniliikp PLUZ npud 48000 48.0
80000000 |Jtpuwujunnpuiunnud PCUZ npud 50000 50.0
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